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Short answer questions/problems

1.  What is the principal danger in using historical returns to estimate the risk of a stock that you are thinking about buying?
future return and risk may be unlike past returns and risk

Use the following information to answer questions 2 through 4 on the same graph (put all 3 answers on the same graph but label each one carefully).

You are considering investing in Kiseido Inc. and Samarkand Corp.  You estimate that the expected return on Kiseido will be 15% while the expected return on Samarkand will be 10%.  However, you also estimate that Kisiedo will be riskier with a standard deviation of returns of 35% compared to Samarkand’s 20%.  Finally, you estimate that the correlation between Kiseido and Samarkand is 0.60.  Note that the return on T-bills is 1.7%.
2.  Sketch a reasonable feasible set if you limit your investing to Kiseido and Samarkand.
Curves to left of 2 points.

3.  Identify the optimal combination of Kiseido and Samarkand.
Point of tangency.

4.  How will your answer in 3 change if the correlation between Kiseido and Samarkand drops to 0.20?

Feasible set has more of a curve, slope of line higher, point of tangency should be closer to Samarkand.

5.  What kind of option can be exercised only at the expiration date of the option?

European

6.  Assume nothing changes except that Microsoft’s stock price rises.  What will happen to the value of a call on Microsoft?

Rise

7.  Assume that you are putting together an artificial put.  As a part of this transaction you short-sell the stock on which this artificial put is being created.  Sketch a graph of the payoff from this short-sale as a function of the stock price at the expiration of the artificial put.

If stock price is $0, then payoff is $0.  As stock price rises, payoff falls $1 for $1.

8.  Briefly describe the conflict of interest between stockholders and managers over the size of the firm.

Managers want the firm to grow beyond what stockholders want due to increased power, pay, perks, and prestige that accrue to management  in larger firms.

9.  Why do bondholders lose if the firm pays a dividend to stockholders?
Value of firms drops.  As a result, bondholders are less likely to get paid in full.
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10.  List 2 reasons that the board of directors might not protect stockholder interests.
Two of:  management and management’s friends on board, most stockholders give proxy to management, management is better organized than stockholders, management uses stockholder’s money to fight the stockholders.  

Problems/Essays

1.  Drakan Inc. is considering undertaking a new project that would involve an investment in plant & equipment of $100,000 and which has a net present value of $22,000.  The new project will have an expected life of 20 years.  The standard deviation of returns on this new project is 48% which is much higher than the standard deviation of returns on the firm’s existing assets of 37%.  However, due to a correlation of 0.45 between the new project and the firm’s existing assets, the standard deviation of returns on the firm after the project is undertaken will actually fall to 35%.  The project will be funded with $10,000 of internal cash and by issuing additional bonds which mature in 7 years for $110,000 and by issuing common stock.  Note that the firm has existing assets with a market value of $750,000 and that the expected life of these assets is 18 years.  Note also that the firm has outstanding debt that matures for $800,000 in 7 years.  In considering their decision, Drakan has determined that the risk-free rate of interest varies according to maturity as follows:  1-year = 2.57%, 7-year = 5.24%; 18 year = 5.90%; and 20-year = 6.00%.  All of these rates are APRs assuming continuous compounding.  Drakan is planning to determine whether stockholders will want the firm to accept or reject the project by calculating the firm’s value before and after the project is undertaken using the Black-Scholes Option Pricing Model.  List and give the value of each of the 5 variables that Drakan will need to enter into the model in order to value the stock after the project is undertaken?

V0 = 750,000 + 90,000 – 100,000 + 122,000 = 862,000

2 = (.35)2 = .1225

t = 7

Dt = 800,000 + 110,000 = 910,000

rf = .0524
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2.  Over the past 4 years, the returns on Exxon-Mobil and the General Mills were as follows:


Return on:

Year
Exxon-Mobil
General Mills
1998
+18%
+16%

1999
+19%
-23%

2000
+4%
+38%

2001
-3%
+22%

a.  What was the average return on the Exxon Mobil over the past 4 years?

b.  What was the average return on General Mills over the past 4 years?

c.  What was the standard deviation of returns on Exxon-Mobil over the past 4 years?

d.  What was the standard deviation of returns on General Mills over the past 4 years?

e.  What was the covariance of returns between General Mills and the Exxon-Mobil over the past 4 years?

f.  What is the correlation between the returns on Exxon-Mobil and General Mills based on the returns over the past 4 years?
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